A REXRESIRARQ (641 AXEKEE)

#h X £ HEFEH B = &t BIAL AD
® L 178 166 153 319 — 2
5l— & =& 604 562 530 1,002] — 7
X 45 17 241 222 9254 476 0
M 57 164 182 166 348 + 2
N E 1,187 1,132 1,103 2,235 — 7
% M 167 169 156 325 + 1
it m # 88 97 107 204 0
BmoOom 118 118 130 248| — 2
= |F sl 94 94 87 181 0
= X 80 88 91 179] — 1
E 1R 61 71 68 139 0
|2 ey 211 161 177 338 — 1
BES1TEH 119 146 152 208 + 1
BELS2TEH 1 1 2 3 0
BES3TH 85 103 122 225 — 2
N 1,024 1,048 1,092 2,140 — 4
e = 48 47 47 94 0
ah ] 29 24 35 59 0
T A K 68 75 76 151 0
gl A ow 27 19 31 50 — 1
& e 39 31 33 64 0
SCBIR1TE 238 289 283 572 — 1
5 [SCPR2TE 214 286 294 580 — 1
S(BIR3TE 226 282 268 550 — 2
S(BIRATE 264 280 313 503 — 3
S<L R @ 185 324 303 627| — 3
TN 1,338 1,657 1,683 3,340 — 1
o 294 340 334 674 0
3 s 20 17 21 38| — 1
w|F £ 8 61 60 69 129 0
i Ly 320 360 372 732 0
q 3 & 447 446 505 951| — 3
N 1,142 1,223 1,301 2,524 — 4
XE1TEH 400 422 482 904| + 2
XKE2TEH 535 595 675 1270 — 4
Xx=3TH 348 386 408 794 — 1
=|XAE4TH 593 637 682 1,319] + 8
XE5TEH 123 130 125 255 — 3
N 1,999 2,170 2,372 4,542 + 2
B 6,690 7.230 7551 14781] — 34

B B L 18 — 3 — 19 — 15 — 34




